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L RIS

Prototype AlysVy

AFLOW prototype label A23B4_hP54.194 _th3k_ah-001
ICSD 174002

Pearson symbol hP54

Space group number 194

Space group symbol P63/mmc

AFLOW prototype command aflow —-proto=A23B4_hP54_194_fh3k_ah-001
--params=a, ¢/a, za, X3, T4, L5, 25, L6, 26, L7, 27

e (Smith, 1957) gives z2 = 0.167 for their Al; (our Al IT) (4f) site, but the ICSD entry sets this to 0.617. The later value is
consistent with the interatomic distances in the paper, so we use that value.
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Hexagonal primitive vectors

a3 = %a}“{ - éay
ag = %afc + @ay
ag = CcZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 = 0 (2a) VI
B, = 1ag = icz (2a) VI
B; = laj+2ay + 2ay = lagk+Bay + ez (4f) AlT
B, = %a1+%a2+(22+%) as = %ai—%ay—kc(@—ké)i (4f) All
By = %al+%32—2233 = %ai—?a&—a@i (4f) All
B = ta;+2a;— (22— 3) a3 = %a&—k%a&—c(zz—%)i (4f) All
B, = z3al + 2z3a + 1 ag = Sawzk + @axg y+icz (6h) AlTI
Bg = —2x3a; — T3as + %ag = f%azgﬁJr @azger %ci (6h) AlIl
By = z3a; —x3ax + +ag = —V3az3§ + ci (6h) Al Tl
Bio = —r3a; — 2zr3as + %ag = —%amg, X — ?amg, v + %ci (6h) Al Tl
B,y = 2r3a; + r3as + % as = %axs X — TSCL.T?, v+ %ci (6h) Al Il
B2 = —zza; +a3as + S ag = V3azs§ + 3c2 (6h) Al I
Bis = zy4a; 4 2z4as + § ag = Sazak + ?am y+icz (6h) VII
By = —2x4a; —T4a0 + %33 = —%au X+ ?am v+ %ci (6h) VI
By = T4a] — Tqag + i as = —V3azs§ + ici (6h) VII
Big = —z4a; — 2x4a9 + %ag = f%az@“{ — @au v+ %02 (6h) VII
By = 2rga; + x40 + 3 a = Sarsk — Lary g+ 3ck (6h) VI
Bis = —z4a; + 422 + 3 ag = V3azy§ + 3c2 (6h) VII
By = rsay + 2x5as + 25 ag = %aac5 X+ @a% V+cziz (12k) Al IIT
By = —2x5a; — x5as + 25 as = f%a% X+ @a& V+czz (12k) Al IIT
By = Tsa] — Tsag + 25 as —V3Baxs § + cz5 2 (12k) Al IIT
Boy = —xsa;—2asax+ (35+ 1) a3 = “Baxs k- Barsyg+c(z+1) 2 (12k) Al TII
Bos = 2r5a; + r5as + (z5 + %) as = %axs X — @a% y+ec (z5 + %) Z (12k) Al III
Boy = —Tsa; +xsas + (z5 + %) as = V3axs§ + ¢ (25 + %) Z (12k) Al IIT
By = 2z5a; + Tsas — 25 as = %ax5 X — ?CLZE{) v —c257Z (12k) Al IIT
Bas = —T5a; — 258y — 25 a3 = —Bazs &k — LBarsy — cz52 (12k) Al I
Byr = —Tsa) + Tsas — 25 as = V3azrsy — czs5 2 (12k) Al IIT
Bos = —2r5a; — Tsas — (z5 — %) as —%ax5>‘< + @a:&,& —c (25 - %) Z (12k) Al IIT
By = T5a) + 2xs5as — (25 — %) as = %aws X+ @axs y—c (25 — %) Z (12k) Al II1
B3 = zsa; —xsay — (25 — 3) as = —V3axs§ —c (25— 3) 2 (12k) Al TII
B3, = Tga + 2z as + 2¢ as = %ax6>2+ @azﬁerchi (12k) AlTV



B3, = —2xga; — Tgas + 2 as = —%axf; X+ @a%ﬂ y+czz (12k) AlTV
B3z = Tgal — Tg Ao + 2 A3 = —V3azgy + cz6 2 (12k) AlTV
B3y, = —Tga; — 2xgas + (z6 + %) as = —%aacG& — @a%y +ec (26 + l) 2 (12k) Al TV
Bss = 216 a; + Tgas + (26 + %) as = %aa:6 X — iax(g y+e (26 + ) (12k) AlTV
B3 = —xgal + rgas + (26 + %) as = V3axgy + ¢ (26 + 5) Z (12k) AlTV
By = 216 a1 + T az — 2g a3 = %axa X — ﬁaxG Y —cz52 (12k) Al TV
B3z = —Tg a1 — 2T Az — 2 A3 = —%axg X — ?axg ¥ —czZ (12k) Al TV
B3y = —T a1 + Te a2 — 26 A3 = V3axe § — cz6 2 (12k) ALV
By = —2x5a; — Tgas — (,26 — %) as = 7%(15865{ + @axﬁy —c (26 — %) Z (12k) AlTV
Ba = Teay + 2zgag — (26 — %) as = %axm‘( + ﬁa%y —c (26 - %) Z (12k) Al IV
By = xﬁal—xeag—(z —%) as = —faxgy—c( G—l) Z (12k) Al TV
Bssz = r7a; + 2z as + 27 as = gam X+ faaw Y +czr2 (12k) AlV
By = —2x7a; — x7as + 27 as = f%am X+ %a:w y+czrz (12k) AlV
By = Tra; — Tyag + z7as = —V3Bazr § + czr 2 (12k) AlV
By = —zra;—2zraz+ (2r+3)ag = —jarr % — i‘”573’ te(erty) 2 (12k) ALV
By = 2r7a; + r7as + (27 + %) as = %axﬂi — §Qx7§f +c (27 + %) Z (12k) AlV
Bis = —z7a; +x7as + (27 + %) as = V3axz§ + ¢ (27 + %) Z (12k) AlV
By = 2x7a; + x7as — 27 as = %am X — @am V—c2Z (12k) AlV
Bso = —z7a; — 2x7as — 27 as = —%aﬂw X — @am y—czrz (12k) AlV
Bs: = —x7a) + x7as — z7as = V3ar7y —czr 2 (12k) AlV
Bs, = —2x7a; — T7ay — (27 — %) as = —%axﬂ? + @a:wjr —c (27 — %) Z (12k) AlV
Bss = r7a) + 2x7as — (27 — %) as = %axﬂi + ﬁaawy —c (Z7 — %) Z (12k) AlV
Bs, = zra; —xray — (27 — 3) as = —VBaxry —c (27— %) 2 (12k) AlV
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